

Make each sentence true.



$3 - 1 = \underline{\quad}$



Subtraction (minuends through 4)



$3 - 1 = \underline{2}$

_____ got _____ correct.



$4 - 3 = \underline{\quad}$



$1 - 1 = \underline{\quad}$



$4 - 0 = \underline{\quad}$



$3 - 2 = \underline{\quad}$



$3 - 3 = \underline{\quad}$



$3 - 2 = \underline{\quad}$



$2 - 1 = \underline{\quad}$



$4 - 1 = \underline{\quad}$



$2 - 0 = \underline{\quad}$



$3 - 0 = \underline{\quad}$



$1 - 0 = \underline{\quad}$



$4 - 2 = \underline{\quad}$



$2 - 2 = \underline{\quad}$



$4 - 4 = \underline{\quad}$



$4 - 3 = \underline{\quad}$